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Unit 10 5#%5) % A Brief Introduction of the Emphatic Pattern
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Students can master the using of the Emphatic Pattern.
Students can understand and use the Emphatic Pattern in reading and writing.
Students can understand that different tone express different meanings.

The basic structure: It is/was(not) =--that /who-*-

More structures: Is/Was it =--that/who==*?
Wh-+is/was it that/who=**?
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A Brief Introduction of the Emphatic Pattern

The basic structure: More structures:
It is/was (not) ...that /who... Is/Was it ...that/who...?

Wh-+is/was it that/who...?
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Step 1 Lead-in
Show students two pictures of Leonardo to arouse students’ | Bl A | LE v 5] i %
interest. And show two sentences of different tones. Let AR R
students notice the tone and the structures of the second NN g B
sentences. 2R A B
P 1 =
Leonardo finally won the Academy a
| Awards in Hollywood this year.
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g It was Leonardo that/who finally 2
won the Academy Awards in
N é‘ Hollywood this year. q
()’ — “
Step 2 Structure analysis FRSHT | T R A 2
1. Present the basic structure: It is/was (not) -:-that /who--- 552 A T
2. Use the basic structure to emphasize different parts of the [EICIENITEL N
sentence according to what Leonardo said. 4ty
Let’s emphasize different parts of the sentence Q)
according to what Leonardo said. @
]
] It was the Academy Awards that Leonardo 7
i finally won in Hollywood this year. \}
© of
1° Awards, not any a
other award. .\)
€
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Step3 Show more structures: Is/Was it ---that/who---? fa) A R H f N\ B
Wh-+is/was it that/who-+-? IEIE30 0
Use other structures of the emphatic pattern according to g 4 3P 1)
what Leonardo asked. (A5 AL T 2
Let’s emphasize different parts of the sentence |
according to what Leonardo said. ¢
It was in Hollywood that Leonardo finally il
| won the Academy Awards this year.
Hollywood, not
any other place.
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Step 4 Consolidation. Do some translation to have a consolidation
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Translation: oy
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Finish the exercise about the the Emphatic Pattern on the ;;252 LS ; f %[Ii,tl/ &
workbook.

Finish the exercise about the the Emphatic Pattern on the workbook.
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